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TOPIC 9: SHAPE PATTERN
I LEVEL1

' OHACHA
Problem 1: In the shape sequence below, if the D C e

pattern continues, which shape would be the 10" shape?

Answer; @ @

Problem 2: In the animal sequence below, if the i .i

pattern continues, which animal would be the 10th H ﬂ E ﬁ sersiases
animal?

Answer: @ @




Problem 3: In the character i &
sequence below, if the pattern o e ?’ ;
continues, which character would be

the 15" character?

Answer: © @

Problem 4: In the shape sequence below, if the pattern . . i - . i

eh

|||||

continues, which shape would be the 10" shape?

Answer: © @

Problem 5: In the animal sequence below, if the pattern

continues, which animal would be the 10" animal? é ‘ *é ‘ h-

Answer: @ @

Problem 6: In the character sequence below, if the i

pattern continues, which character would be the 15 %% : ﬁa%
character?

Answer; @ @

Problem 7: In the fruit sequence below, if the . ‘ . J’ .. ' \:___.._’ . e

pattern continues, which fruit would be the 15th
fruit?

Answer; @ @
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Problem 8: In the animal sequence 1 f oo 1 ‘f ~ B8 1
_ _ . a0 a8 -

below, if the pattern continues, which

animal would be the 15th animal?

Answer: ©@ 3]

Problem g: In the character sequence below, if -~ H -~
¢ 2% 2

the pattern continues, which character would :; ia ' & :
A | =

et L '. - - Nl e 'ﬂ"

be the 15" character?

Answer: @ @

Problem 10: In the shape sequence below, if the pattern continues, which shape would be the 15th

shape?
Answer: @ @
II. LEVEL2
Problem 1: We use matchsticks to build the EH'urr:s below, How many matchsticks are there in the 5"' set?
[ - b L] | 1
Answer: @ @

Problem 2: We use matchsticks to build the figures below. How many matchsticks are there in the 6% set?
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Answer: © ®
Problem 3: We use matchsticks to build the figures below, How many matchsticks are there in the 7% set?
y il e . 1 1 -
. *® w | ™ o : | w
Answer: © &
Problem 4: We use matchsticks to build the ﬁE‘LII‘F!‘S basliw, Hiow many matchsticks are there in the 8" set?
r 1 T : | 1 v . | . & ]
. | |
. — T b 1 ¥ T L i
Answer: @ @

Problem 5: We use matchsticks to build the figures below. How many matchsticks are there in the 9" set?

Answer: @ @

Answer: @ @

III. LEVEL3

Problem 1: A pattern that repeats every six symbols stars as shown below:

ViEVIVO VAVIV
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Which are the 20" and the 21 symhbols in the pattern?

Problem 2: If the pattern contmues, how many black squares would the 10 * row have?

Answer: @ @

Problem 3: If the pattern in the diagram continues, how many shaded triangles are there in the 10"

triangle?

Y Y

Answer: © @

Problem 4: The first figure has 1 square, the second figure has 4 squares and the

third figure has 9 squares. How many squares will the 10™ figure have? ]
Answer: @ @
L]
. mm
Problem 5: How many dots are needed to build the 5% house? an maas
[ I ] " = : :
iR mEE gamw

Answer: © @

Problem 6: How many matchsticks will the 10™ figure have?
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Sgecfeee

Problem 7: How many matchsticks will the 10™ figure have?

Answer: @

sl RE

Answer: ©

IV. LEVEL 4

Problem 1: How many sguires are there in the 15" figure?

& a0
BN rﬁH NI TN
Fgus!  Figeel Fopame

Figmasd

Answer: @ @

Problem 2: How many black squares are there in the 20™ figure?

5 o BR

Figure 1 Flgure 2 Flgume 3

Answer: @ (3]

Problem 3: The fgure consists of alternating light and dark squares, By how many squares does the

IILIIIItH:i' ﬂrdﬂl’k E-L]I.IH.I'E!- t‘I‘{!El‘.‘d i]'.l.lf '[lLEmh'Ef u!'wlﬁh-. ?i-[!uﬂl'l.'.!i?
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Answer: @ (3

Problem 4: How many matchsticks are needed to build the 25" figure?

A AN
A\ AN ﬁ:ﬁg \ r‘*?\{ A

Answer: @ (34
Problem 5: How many squares are there in the 30" figure?
| ]
g 1 Figure 2 e 3
Answer: ©@ e
V. LEVELs
Problem 1: The diagram below I 5 8 9 M 12 1NN B U MHMED

\'.

shows a pattern which repeats
; | 4 6 7 M 13 14 16 18 19 22 25 M 8 My 3]
every 12 dots, Which of the £

following does the piece between 2007 and 2011 look like?

T eTNTENT SN N\
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th]m a: TI'.IE' lJZiE.ETHI'Il ‘HI'I{I'H-'?-'- e .‘i[iuﬂrﬂ I.H'.IE.I'IJ |.th. I'IH!i- ﬂ hla:'k !i-l'll.'l.l:l.r"E'E. .I’L largu'l' lI'!II]B]‘L:I.1 l.'-l!]l'l!i:f‘l.ll.',-ll.‘d in |.hl'_'

same way, has 49 black squares. How many white squares are there on the larger board?

Answer: © @

1 2 3 I 5
Problem 3: In the pattern below, the cat moves _ﬁ [ ! | 1 o
clockwise through the four squares and the % L2 ﬂT EI

mouse moves counterclockwise through the

right exteror segments of the four S(UATES.
If the pattern is continued, where would the cat and mouse be after the 247" move?

7 I 1 N . i
(3 . [ T?’ ")

(A (KR} (C}) 11 [E)
Problem 4: A square floor is tiled with congruent square tiles. The tiles on the

two diagonals of the floor are black. The rest of the tiles are white. If there are 101

black tiles, what is the total number of white tiles? ﬁ
. © © E ,,,,,,,,,,,,,, ﬂ

. —— -. Problem 6: A gym owner has some white weights and some yellow weights. The

s white weights are 4 kilograms each, and the yellow weights are 3 kilograms each.
1 b
n The owner haz 6 wright.l:, aned thn}' \ﬂ!igh 2z kill}gmmﬁ m-all. How many of each
*

color weight does he have?

Answer: & e
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